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QUESTION 1

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is
repeated in each question. Each question presents a different goal and answer choices, but the text of the scenario is
exactly the same in each question on this series. 

You have a database that tracks orders and deliveries for customers in North America. System versioning is enabled for
all tables. The database contains the Sales.Customers, Application.Cities, and Sales.CustomerCategories tables. 

Details for the Sales.Customers table are shown in the following table: 

Details for the Application.Cities table are shown in the following table: 

Details for the Sales.CustomerCategories table are shown in the following table: 

You need to create a query that meets the following requirements: 

For customers that are not on a credit hold, return the CustomerID and the latest recorded population for the delivery
city that is associated with the customer. 
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For customers that are on a credit hold, return the CustomerID and the latest recorded population for the postal city that
is associated with the customer. 

Which two Transact-SQL queries will achieve the goal? Each correct answer presents a complete solution. 

A. B. C. D. 

Correct Answer: A 

Using Cross Joins 

A cross join that does not have a WHERE clause produces the Cartesian product of the tables involved in the join. The
size of a Cartesian product result set is the number of rows in the first table multiplied by the number of rows in the 

second table. 

However, if a WHERE clause is added, the cross join behaves as an inner join. 

B: You can use the IIF in the ON-statement. 

IIF returns one of two values, depending on whether the Boolean expression evaluates to true or false in SQL Server. 

References: https://technet.microsoft.com/en-us/library/ms190690(v=sql.105).aspx https://msdn.microsoft.com/en-
us/library/hh213574.aspx 

 

QUESTION 2

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while others might not have a correct solution. 
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After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

You create a table named Customer by running the following Transact-SQL statement: You create a cursor by running
the following Transact-SQL statement: 

If the credit limit is zero, you must delete the customer record while fetching data. 

You need to add the DELETE statement. 

Solution: You add the following Transact-SQL statement: 

Does the solution meet the goal? 

A. Yes 

B. No 
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Correct Answer: B 

Use a WHERE CURRENT OF clause, which deletes at the current position of the specified cursor. References:
https://docs.microsoft.com/en-us/sql/t-sql/statements/delete-transact-sql 

 

QUESTION 3

HOTSPOT 

You have the following stored procedure: 

You run the following Transact-SQL statements: 

What is the result of each Transact-SQL statement? To answer, select the appropriate options in the answer area. 

Hot Area: 
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Correct Answer: 

Box 1: All transactions are rolled back. 

The first IF-statement, IF @CODE = \\'C2323\\' AND @ApplicationID = 1, will be true, an error will be raised, the error
will be caught in the CATCH block, and the only transaction that has been started will be rolled back. 

Box 2: Only Log1, Log2, and Log3 tables are updated. 

The second IF-statement, IF @Code = \\'C2323\\', will be true, so the second transaction will be rolled back, but log1,
log2, and log3 was updated before the second transaction. 

 

QUESTION 4
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Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while 

others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

You create a table named Customer by running the following Transact-SQL statement: 

You create a cursor by running the following Transact-SQL statement: 

If the credit limit is zero, you must delete the customer record while fetching data. You need to add the DELETE
statement. 

Solution: You add the following Transact-SQL statement: 
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Does the solution meet the goal? 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 5

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while others might not have a correct solution. 

After you answer a question in this section. You will NOT be able to return to it. As a result, these questions will not
appear in the review screen. 

You create a table named Products by running the following Transact-SQL statement: 

You have the following stored procedure: 
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You need to modify the stored procedure to meet the following new requirements: 

Insert product records as a single unit of work. 

Return error number 51000 when a product fails to insert into the database. 

If a product record insert operation fails, the product information must not be permanently written to the database. 

Solution: You run the following Transact-SQL statement: 
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Does the solution meet the goal? 

A. Yes 

B. No 

Correct Answer: B 
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